BAC1-2022-10-0069 Supply and Delivery of Medical Supplies for Anesthesiology - for CY 2023 under Public Bidding

	AGENCY's REQUIREM	ENTS				Bl	ID PROPOSAL			
Item No.	Item Desription	Qty	иом	Unit Cost	Total Cost	Bidder's Specifications	Brand	Unit Cost	Total Cost	Remarks
1	Airway, supraglottic device with gastric access, size 1	300	pc	2,112.50	633,750.00					
2	Airway, supraglottic device with gastric access, size 1.5	240	pc	2,112.50	507,000.00					
3	Airway, supraglottic device with gastric access, size 2	300	pc	2,112.50	633,750.00					
4	Airway, supraglottic device with gastric access, size 2.5	240	pc	2,112.50	507,000.00					
5	Airway, second-generation supraglottic device with gastric access, size 3	240	pc	2,112.50	507,000.00					
6	Airway, second-generation supraglottic device with gastric access, size 4	240	pc	2,112.50	507,000.00					
7	Airway, second-generation supraglottic device with gastric access, size 5	240	pc	2,112.50	507,000.00					
8	Airway, oral, size 000** 30mm-40mm., sterile, oropharyngeal airway (guedel type)	500	pc	64.00	32,000.00					
9	Airway, oral, size 00** 40mm-50mm., sterile, oropharyngeal airway (guedel type)	500	pc	64.00	32,000.00					
10	Airway, oral, size 0** 50mm-60mm, sterile, oropharyngeal airway (guedel type)	500	pc	64.00	32,000.00					
11	Airway, nasopharyngeal (latex with adjustable flange) Fr. 20	240	pc	324.50	77,880.00					

BAC1-2022-10-0069 Supply and Delivery of Medical Supplies for Anesthesiology - for CY 2023 under Public Bidding

	AGENCY'S REQUIREM	IENTS				Bl	ID PROPOSAL			
Item No.	Item Desription	Qty	иом	Unit Cost	Total Cost	Bidder's Specifications	Brand	Unit Cost	Total Cost	Remarks
12	Airway, nasopharyngeal (latex with adjustable flange) Fr. 22	240	pc	324.50	77,880.00					
13	Airway, nasopharyngeal (latex with adjustable flange) Fr. 26	240	pc	324.50	77,880.00					
14	Airway, nasopharyngeal (latex with adjustable flange) Fr. 28	480	pc	324.50	155,760.00					
15	Airway, nasopharyngeal (latex with adjustable flange) Fr. 30	480	pc	324.50	155,760.00					
16	Airway, nasopharyngeal (latex with adjustable flange) Fr. 32	480	pc	324.50	155,760.00					
17	Airway exchanger catheter Fr8 (45cm)	10	pc	10,000.00	100,000.00					
18	Airway exchanger catheter Fr14 (83cm)	10	pc	10,000.00	100,000.00					
19	Endobronchial blocker Fr 7.0	10	pc	14,780.00	147,800.00					
20	Endobronchial blocker with multi port adapter with scope LCD	10	pc	12,500.00	125,000.00					
21	Endobronchial blocker with oxygen adapter	10	pc	15,000.00	150,000.00					
22	Endobronchial blocker with dust lid	10	pc	15,000.00	150,000.00					
23	Laryngoflex flexible armoured tracheostomy tube with valve Fr 7	2	pc	7,800.00	15,600.00					
24	Laryngoflex flexible armoured tracheostomy tube with valve Fr 8	2	pc	7,800.00	15,600.00					
25	Anesthetic breathing circuit, pediatric GSE (Gas Sampling Elbow) with cap, parallel wye, B/V filter, 1 liter latex-free breathing bag	6,000	рс	570.00	3,420,000.00					

BAC1-2022-10-0069 Supply and Delivery of Medical Supplies for Anesthesiology - for CY 2023 under Public Bidding

	AGENCY's REQUIREM	IENTS				ВІ	D PROPOSAL			
Item No.	Item Desription	Qty	иом	Unit Cost	Total Cost	Bidder's Specifications	Brand	Unit Cost	Total Cost	Remarks
26	Anesthetic breathing system 22mm, 2.0m, adult, with 3L bag, filter & 1.5m limb		рс	579.33	7,241,625.00					
27	Anesthetic breathing system, pediatric with pediatric APL valve (Jackson Rees) with 0.5 liter bag		рс	1,200.00	1,800,000.00					
28	Co-axial adult breathing circuit compatible with existing anesthesia machines		рс	2,500.00	150,000.00					
29	Co-axial pediatric breathing circuit compatible with existing anesthesia machines	24	рс	2,500.00	60,000.00					
30	Blood analysis one test card with 13 analytes (pH, Na+, Glu, pC02, K+, Lac, p02, Ca++, Crea, TC02, Cl-, BUN, Hct) with provision for compatible reader device	9,000	рс	650.00	5,850,000.00					
31	Echogenic Continuous nerve block catheter g. 18x 51mm	480	pc	3,000.00	1,440,000.00					
32	Echogenic Continuous nerve block catheter g. 18x 83mm	480	pc	3,000.00	1,440,000.00					
33	Elastomeric Infusion pump in 100 ml for 50 hours	480	pc	1,425.05	684,024.00					
34	Elastomeric Infusion pump in 270 ml for 54 hours	480	pc	1,425.05	684,024.00					

BAC1-2022-10-0069 Supply and Delivery of Medical Supplies for Anesthesiology - for CY 2023 under Public Bidding

	AGENCY'S REQUIREM	IENTS				Bl				
Item No.	Item Desription	Qty	UOM	Unit Cost	Total Cost	Bidder's Specifications	Brand	Unit Cost	Total Cost	Remarks
35	Fast flow disposable (normothermic) IV administration sets and accessories, compatible with existing device	20	рс	9,419.40	188,388.00					
36	Mask, anesthetic, face, neonate, size 0	600	pc	180.00	108,000.00					
37	Mask, anesthetic, face, infant, size 1	1,000	рс	180.00	180,000.00					
38	Mask, anesthetic, face, toddler, size 2	3,000	pc	180.00	540,000.00					
39	Mask, anesthetic, face, child/small adult, size 3	3,000	pc	180.00	540,000.00					
40	Mask, anesthetic, face, adult size 4 medium	3,000	pc	180.00	540,000.00					
41	Mask, anesthetic, face, adult size 5 large	2,000	pc	180.00	360,000.00					
42	Lumbar puncture periprocedural care tray with spinal manometer	120	pc	441.00	52,920.00					
43	Medication cassette reservoir 100 ml, compatible with existing CADD Solis pump	600	pc	647.00	388,200.00					
44	Medication Cassette Reservoir, 250 ml, compatible with existing CADD Solis pump	256	pc	1,115.00	285,440.00					
45	Medication Extension Set, 60 inches, compatible with existing CADD Solis pump	856	pc	240.00	205,440.00					
46	Administration Set, compatible with existing CADD Solis pump	256	pc	815.00	208,640.00					
47	Radial arterial catheter set g. 20x 1 ½	480	pc	1,000.00	480,000.00					

BAC1-2022-10-0069 Supply and Delivery of Medical Supplies for Anesthesiology - for CY 2023 under Public Bidding

	AGENCY'S REQUIREM	IENTS				В	ID PROPOSAL			
Item No.	Item Desription	Qty	иом	Unit Cost	Total Cost	Bidder's Specifications	Brand	Unit Cost	Total Cost	Remarks
48	Radial arterial catheter set g. 20x 1 ³ / ₄	480	pc	800.00	384,000.00					
49	Echogenic single shot nerve block needles 21Gx100mm	2,400	pc	780.00	1,872,000.00					
50	Echogenic single shot nerve block needles 22Gx50mm	2,400	pc	780.00	1,872,000.00					
51	Stylet, flexi-slip with soft distal tip endotracheal tube guide Fr. 6	240	pc	300.00	72,000.00					
52	Stylet, flexi-slip with soft distal tip endotracheal tube guide Fr. 8	240	pc	250.00	60,000.00					
53	Stylet, flexi-slip with soft distal tip endotracheal tube guide Fr. 10	1,000	pc	250.00	250,000.00					
54	Stylet, flexi-slip with soft distal tip endotracheal tube guide Fr. 12	1,000	pc	250.00	250,000.00					
55	Stylet, flexi-slip with soft distal tip endotracheal tube guide Fr. 14	1,000	pc	250.00	250,000.00					
56	Transducer, pressure monitoring kit, disposable, for arterial line	6,000	pc	1,800.00	10,800,000.00					
57	Tube, Endobronchial, fr. 26 (double lumen), left	60	pc	5,100.00	306,000.00					
58	Tube, Endobronchial, fr. 35 (double lumen), left	180	pc	7,050.00	1,269,000.00					
59	Tube, Endobronchial, fr. 37 (double lumen), left	180	pc	7,050.00	1,269,000.00					
60	Tube, Endobronchial, fr. 39 (double lumen), left	60	pc	5,100.00	306,000.00					
61	Endobronchial blocker tube normal (rotating fixing type) Fr. 5	10	pc	6,900.00	69,000.00					

BAC1-2022-10-0069 Supply and Delivery of Medical Supplies for Anesthesiology - for CY 2023 under Public Bidding

	AGENCY's REQUIREM	IENTS				В				
Item No.	Item Desription	Qty	иом	Unit Cost	Total Cost	Bidder's Specifications	Brand	Unit Cost	Total Cost	Remarks
62	Endobronchial blocker tube with Auto inflator (rotating fixing type) Fr. 7	10	pc	7,350.00	73,500.00					
63	Tube, endotracheal, sterile, reinforced, armoured, 3.0mm	480	pc	1,354.00	649,920.00					
64	Tube, endotracheal, sterile, reinforced, armoured, 3.5mm	480	pc	1,354.00	649,920.00					
65	Tube, endotracheal, sterile, reinforced, armoured, 4.0mm	480	pc	1,354.00	649,920.00					
66	Tube, endotracheal, sterile, reinforced, armoured, 4.5mm	480	pc	1,354.00	649,920.00					
67	Tube, endotracheal, sterile, reinforced, armoured, 5.0mm	480	pc	1,354.00	649,920.00					
68	Tube, endotracheal, sterile, reinforced, armoured, 5.5mm	480	pc	1,354.00	649,920.00					
69	Tube, endotracheal, sterile, reinforced, armoured, 6.0mm	480	pc	1,354.00	649,920.00					
70	Tube, endotracheal, sterile, reinforced, armoured, 6.5mm	480	pc	1,354.00	649,920.00					
71	Tube, endotracheal, sterile, reinforced, armoured, 7.0mm	960	pc	1,354.00	1,299,840.00					
72	Tube, endotracheal, sterile, reinforced, armoured, 7.5mm	960	pc	1,354.00	1,299,840.00					
73	Tube, endotracheal, sterile, reinforced, armoured, 8.0mm	960	pc	1,354.00	1,299,840.00					
74	Tube, endotracheal, sterile, reinforced, armoured, 8.5mm	480	pc	1,354.00	649,920.00					

BAC1-2022-10-0069 Supply and Delivery of Medical Supplies for Anesthesiology - for CY 2023 under Public Bidding

	AGENCY's REQUIREM	IENTS				Bl	ID PROPOSAL			
Item No.	Item Desription	Qty	иом	Unit Cost	Total Cost	Bidder's Specifications	Brand	Unit Cost	Total Cost	Remarks
75	Perfusor line, polyvinyl chloride, Luerlock, 150cm	14,000	pc	168.55	2,359,700.00					
76	Perfusor line, polyvinyl chloride, Luerlock, 75cm	14,000	pc	98.95	1,385,300.00					
77	Tube, Tracheal, preformed nasal, pedia, w/o cuff 3.0 mm	144	pc	404.00	58,176.00					
78	Tube, Tracheal, preformed nasal, pedia, w/o cuff 3.5 mm	144	pc	404.00	58,176.00					
79	Tube, Tracheal, preformed nasal, pedia, w/o cuff 4.0 mm	144	pc	404.00	58,176.00					
80	Tube, Tracheal, preformed nasal, pedia, w/o cuff 4.5 mm	144	pc	404.00	58,176.00					
81	Tube, Tracheal, preformed nasal, adult, w/ cuff 5.5 mm	144	pc	404.00	58,176.00					
82	Tube, Tracheal, preformed nasal, adult, w/ cuff 6.0 mm	240	pc	404.00	96,960.00					
83	Tube, Tracheal, preformed nasal, adult, w/ cuff 6.5 mm	240	pc	404.00	96,960.00					
84	Tube, Tracheal, preformed nasal, adult, w/ cuff 7.0 mm	240	pc	404.00	96,960.00					
85	Tube, Tracheal, preformed nasal, adult, w/ cuff 7.5 mm	240	pc	404.00	96,960.00					
86	Tube, Tracheal, preformed nasal, adult, w/ cuff 8.0 mm	240	pc	404.00	96,960.00					
87	Tube, Tracheal, preformed oral, pedia, w/o cuff 3.0 mm	144	pc	404.00	58,176.00					
88	Tube, Tracheal, preformed oral, pedia, w/o cuff 3.5 mm	144	pc	404.00	58,176.00					

BAC1-2022-10-0069 Supply and Delivery of Medical Supplies for Anesthesiology - for CY 2023 under Public Bidding

	AGENCY'S REQUIREM	IENTS				ВІ				
Item No.	Item Desription	Qty	иом	Unit Cost	Total Cost	Bidder's Specifications	Brand	Unit Cost	Total Cost	Remarks
89	Tube, Tracheal, preformed oral, pedia, w/o cuff 4.0 mm	144	pc	404.00	58,176.00					
90	Tube, Tracheal, preformed oral, pedia, w/o cuff 4.5 mm	144	pc	404.00	58,176.00					
91	Tube, Tracheal, preformed oral, adult, with cuff 5.0 mm	144	pc	404.00	58,176.00					
92	Tube, Tracheal, preformed oral, adult, with cuff 5.5 mm	144	pc	404.00	58,176.00					
93	Tube, Tracheal, preformed oral, adult, with cuff 6.0 mm	144	pc	404.00	58,176.00					
94	Tube, Tracheal, preformed oral, adult, with cuff 6.5 mm	144	pc	404.00	58,176.00					
95	Tube, Tracheal, preformed oral, adult, with cuff 7.0 mm	240	pc	404.00	96,960.00					
96	Tube, Tracheal, preformed oral, adult, with cuff 7.5 mm	240	pc	404.00	96,960.00					
97	Tube, Tracheal, preformed oral, adult, with cuff 8.0 mm	240	pc	404.00	96,960.00					
98	Endotracheal tube with low volume low pressure cuff with subglottic secretion drainage / port 7.0 mm	144	pc	384.00	55,296.00					
99	Endotracheal tube with low volume low pressure cuff with subglottic secretion drainage / port 7.5 mm	180	pc	384.00	69,120.00					
100	Endotracheal tube with low volume low pressure cuff with subglottic secretion drainage / port 8.0 mm	144	pc	384.00	55,296.00					

BAC1-2022-10-0069 Supply and Delivery of Medical Supplies for Anesthesiology - for CY 2023 under Public Bidding

	AGENCY's REQUIREM	IENTS				ВІ	D PROPOSAL			
Item No.	Item Desription	Qty	иом	Unit Cost	Total Cost	Bidder's Specifications	Brand	Unit Cost	Total Cost	Remarks
101	Sterile sonography cover with adhesive area without fixation tape	600	pc	384.00	230,400.00					
102	Stat CO2 colorimetric CO2. Detector from blue to yellow with pull tab activator for patients 15kg. And up body weight, brand new		pc	1,100.00	660,000.00					
103	Pediatric Warming Blanket, Uninflated, 30 in. x 57 in. (76 cm x 145 cm) compatible with existing device	1,040	pc	1,565.72	1,628,348.80					
104	Adult FullBody/Multi-Access Blanket, Uninflated, 40 in. x 79 in. (102 cm x 201 cm) compatible with existing device	520	рс	904.04	470,100.80					
105	BIS quatro adult sensor compatible with existing device	32	pc	20,000.00	640,000.00					
106	BIS pediatric sensor compatible with existing device	16	pc	20,000.00	320,000.00					
107	Adult regional oximeter (rSO2) sensor, with provision for compatible reader device	240	pc	15,000.00	3,600,000.00					
108	Central venous catheter triple lumen Fr 7 x 15-20 cm	420	pc	3,639.30	1,528,506.00					
109	Central venous catheter single lumen G20 x 12 cm	420	pc	8,000.00	3,360,000.00					
110	Central venous catheter set G22 x 10 cm	60	pc	8,000.00	480,000.00					

BAC1-2022-10-0069 Supply and Delivery of Medical Supplies for Anesthesiology - for CY 2023 under Public Bidding

	AGENCY'S REQUIREN	IENTS				Bl	ID PROPOSAL			
Item No.	Item Desription	Qty	UOM	Unit Cost	Total Cost	Bidder's Specifications	Brand	Unit Cost	Total Cost	Remarks
111	Central venous catheter set G24 x 9 cm	60	pc	8,000.00	480,000.00					
112	Central venous catheter set double lumen Fr 4 x 8 cm	360	pc	4,494.00	1,617,840.00					
113	Central venous catheter set double lumen Fr 4 x 13 cm	60	pc	8,000.00	480,000.00					
114	Central venous catheter set double lumen Fr 4 x 30 cm	60	pc	8,000.00	480,000.00					
115	Central venous catheter set double lumen Fr 5 x 8 cm	60	pc	4,437.83	266,269.80					
116	Central venous catheter set double lumen Fr 5 x 30 cm	60	pc	8,000.00	480,000.00					
117	Four lumen thermodilution catheter (F7 x 110 cm) with contamination sheath	240	pc	15,000.00	3,600,000.00					
118	Activated clotting time tubes compatible with existing device	2,400	pc	250.00	600,000.00					
119	Waterlock compatible with existing Draeger anesthesia machine, 12 pc per box		pc	33,000.00	1,980,000.00					
120	D-fend water trap compatible with existing GE Carestation 620 anesthesia machine, 10 pc per box	24	pc	40,000.00	960,000.00					
121	Water trap, dual slot, adult/pedia, compatible with existing Mindray physiologic monitors, 10 pc per box	52	box	24,500.00	1,274,000.00					

BAC1-2022-10-0069 Supply and Delivery of Medical Supplies for Anesthesiology - for CY 2023 under Public Bidding

	AGENCY's REQUIREM	IENTS				ВІ	D PROPOSAL			_ ,
Item No.	Item Desription	Qty	UOM	Unit Cost	Total Cost	Bidder's Specifications	Brand	Unit Cost	Total Cost	Remarks
122	Water trap, dual slot, neonate, compatible with existing Mindray physiologic monitors, 10 pc per box	8	box	24,500.00	196,000.00					
123	CO2 Nasal Sample Cannula with 7 ft. Line, Adult, Box of 25, compatible with existing multiparameter physiologic monitor	24	pc	4,000.00	96,000.00					
124	CO2 Nasal Sample Cannula with 7 ft. Line, Pediatric, Box of 25, compatible with existing multiparameter physiologic monitor	24	roll	40,000.00	960,000.00					
	Approved Budget for the Contr	act			92,945,566.40	Total Bid Offer		#R	EF!	
	Printed Name of the Company Date									Signature
	Business Address			Contact No.					Printed :	Name and Designation
	e-Mail Address								•	e-Mail Address